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(6) H$ë¶mUH$mar amÁ¶
1) H$ë¶mU, {dH$mg, g~brH$aU
2) emídV {dH$mg - E‘S>rOr, EgS>rOr
3) ‘Zwî¶~i {dH$mg
4) gd©g‘mdoeH$Vm
5) àmXo{eH$ Ag‘Vm

1) H$ë¶mU, {dH$mg, g~brH$aU
1) nwT>rbn¡H$s H$moUË¶m {dMmad§VmZo {dH$mg hr EH$ à{H«$¶m Am{U ’${bV AgyZ amÁ¶mVrb ZmJ[aH$m§Zm H$‘rV H$‘r AÞ,

{ejU, Amamo½¶ godm Am{U amoOJma ¶m§Mr h‘r XoÊ¶mgmR>r amÁ¶mÀ¶m hñVjonmgmR>r JaO à{Vnm{XV Ho$bobr Amho ?
1) nrQ>a S´>H$a 2) Am°{cìha hmQ>© 3) nm°b H«w$J‘Z 4) A‘Ë¶© goZ

1) Which scholar has defined development as process and product, demanding need of state

intervention to guarantee its citizen a basic minimum - food, education, healthcare and

employment?

1) Peter Drucker 2) Oliver Hart 3) Paul Krugman 4) Amartya Sen

2) Imbrb {dYmZm§n¡H$s H$moUVo {dYmZ ¶mo½¶ Amho?
a) ¶m§{ÌH$ n¶m©daUm‘Ü¶o ¶§Ìm§Mm {dH$mg d n[aUm‘ñdê$n Am¡Úmo{JH$ à{H«$¶m§Mm A§V^m©d hmoVmo.
b) Ag‘mYmZH$maH$ ¶m§{ÌH$ n¶m©daU Am¡Úmo{JH$ WH$dm, H§$Q>midmUonUm, d¡’$ë¶ d AnKmV Aem àíZm§Zm OÝ‘mbm KmbVo.
n¶m©¶r CÎmao …
1) ’$º$ (a) ¶mo½¶ Amho. 2) ’$º$ (b) ¶mo½¶ Amho.
3) XmoÝhr (a) d (b) ¶mo½¶ Amho. 4) (a) Am{U (b) XmoÝhr MyH$ AmhoV.

2) Which of the following statements is/are correct?

a) Mechanical environment consists of development of machines and consequent industrial

processes.

b) Unsatisfactory mechanical environment gives birth to problems of industrial fatigue, monotony,

frustration and accidents.

Answer Options :

1) Only (a) is correct. 2) Only (b) is correct.

3) Both (a) and (b) are correct 4) Both (a) and (b) are incorrect

3) AO|S>m-21' (Agenda-21) Mr ¶mo½¶ ì¶m»¶m bjU H$moUVo ?
1) ¶wZmoÀ¶m ‘mZdm{YH$ma g§ajUmgmR>r Agbobm H¥$Vr AmamIS>m.
2) 21 ì¶m eVH$mVrb OmJ{VH$ n¶m©daUmÀ¶m g§YmaUmMm H¥$Vr AmamIS>m.
3) AmpÊdH$ {Z…eórH$aUmdarb 21 àH$aUm§Mo nwñVH$.
4) gmH©$À¶m nwT>rb g ô‘Yrb AÜ¶jm§À¶m {ZdS>UwH$sgmR>rMr {df¶ n{ÌH$m.

3) Which of the following is correct definition of 'Agenda - 21'?

1) It is an action plan of UNO for protecting human rights.

2) It is an action plan for conservation of global environment in 21st century

3) It is a book of 21 chapters on nuclear disarmaments.

4) It is an agenda for the election of the President in the next meeting of SAARC.
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2) emídV {dH$mg - E‘S>rOr, EgS>rOr
1) {Q>H$mD$ gmVË¶nyU© {dH$mgmMr 2030 Mr H$m¶©H«$‘ n{ÌH$m g§¶wº$ amï´>m§À¶m gXñ¶ XoemZr 2015 ‘Ü¶o ñdrH¥$V Ho$cr Á¶m

Ûmao cmoH$m§gmR>r em§VVm Am{U g‘¥ÕrgmR>r ‘mJ©Xe©H$ VÎdo {Xcr AmhoV. ¶mV 17 {Q>H$mD$ {dH$mg Ü¶o¶o A§V ŷ©V AmhoV.
Imcrc H$moUVo JwUdÎmmnyU© {ejUmMr h‘r XoVo ?
1) Ü¶o¶ 8 2) Ü¶o¶ 4 3) Ü¶o¶ 2 4) Ü¶o¶ 12

1) The 2030 agenda for Sustainable Development adopted by all United Nations Member States in

2015 provide guidelines for peace and prosperity for people. It includes 17 Sustainable

Development Goals. Which of the ones presented below guarantees quality education?

1) Goal 8 2) Goal 4 3) Goal 2 4) Goal 12

2) nwT>rbn¡H$s H$moUË¶m n¶m©¶m§Mm g‘mdoe g§¶wº$ amï´> g§KmÀ¶m {‘ëbo{Z¶‘ S>oìhbn‘|Q> Jmoëg (MDGs) ‘Ü¶o hmoVmo.
a) AmË¶§{VH$ J[a~r Am{U ŷH$ ¶m§Mo {Z‘y©bZ b) gmd©{ÌH$ àmW{‘H$ {ejU gmÜ¶ H$aUo
c) {dH$mgmgmR>r OmJ{VH$ ^mJrXmar {dH${gV H$aUo d) ~mb ‘¥Ë¶yXa H$‘r H$aUo
e) HIV / AIDS, ‘bo[a¶m Am{U BVa AmOmam§er gm‘Zm H$aUo
n¶m©¶r CÎmao …
1) (a), (b), (c), (d), (e) 2) (a), (b), (c) 3) (b), (d), (e) 4) (a), (c), (e)

2) Which one of the following are accepted as Millennium Development Goals (MDGs) by UN?

a) Eradicate extreme poverty and hunger.

b) Achieve universal primary education

c) Develop a global partnership for development.

d) Reduce child mortality

e) Combat HIV/AIDS, Malaria and other diseases.

Answer options :

1) (a), (b), (c), (d), (e) 2) (a), (b), (c) 3) (b), (d), (e) 4) (a), (c), (e)

3) Imbrb {dYmZo {dMmamV ¿¶m.
a) 2015 emídV {dH$mg C{Ôï>m§Mr g§»¶m 30 hmoVr.
b) ñd¡pÀN>H$ amï´>r¶ nwZamdbmoH$Z Ahdmb 2017 gmV emídV {dH$mg bú¶m§da H|${ÐV Amho.
darbn¡H$s H$moUVo/Vr {dYmZ ¶mo½¶ Amho/V?
1) ’$º$ a ¶mo½¶ Amho 2) ’$º$ b ¶mo½¶ Amho
3) XmoÝhr a Am{U b ¶mo½¶ Amho 4) darbn¡H$s H$moUVohr Zmhr

3) Consider the following statements :

a) In 2015 the number of Sustainable Development Goals was 30.

b) The Voluntary National Review Report 2017 focused on 7 sustainable Development Goals.

Which of the statement/s given above is/are correct ?

1) Only a is correct 2) Only b is correct

3) Both a and b are correct 4) None of the above

4) ‘hmamï´> emgZmMo H$moUVo g§MmcZmc¶ emídV {dH$mg Ü¶o¶ H$m¶©H«$‘mMo g{Z¶§ÌU H$aVo ?
1) Amamo½¶ g§MmcZmc¶ 2) AW© d gm§p»¶H$s g§MmcZmc¶
3) CÚmoJ g§MmcZmc¶ 4) {ejU g§MmcZmc¶
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4) Which Directorate of Government of Maharashtra controls 'Sustainable Development Goals

Programme'?

1) Health Directorate 2) Finance and Statistic Directorate

3) Industry Directorate 4) Education Directorate

3) ‘Zwî¶~i {dH$mg
1) ‘hmamï´> amÁ¶ emgZmZo ...... ¶m {Xder '‘hmamï´> amÁ¶ ‘mZd {dH$mg {‘eZ'Mr ñWmnZm Ho$br.

1) 29 OyZ 2001 2) 29 OyZ 2002 3) 29 OyZ 2005 4) 29 OyZ 2006
1) On ...... ‘Maharashtra State Human Development Mission was constituted by state Government of

Maharashtra.

1) 29June 2001 2) 29June 2002 3) 29June 2005 4) 29 June 2006

2) g§¶wº$ amï´>g§K {dH$mg Ahdmb 2019 Zwgma ^maVmÀ¶m ‘mZd {dH$mg {ZX}em§H$m~m~VMr H$moUVr {dYmZo ~amo~a AmhoV?
a) B§Q>aZoQ> dmnaH$V} EHy$U 30.5% d bmoH$g§»¶oÀ¶m à‘mUmV amoOJma (15 df© Am{U Ë¶mnojm OmñV d¶moJQ>mVrb

40.6% Amho.
b) ‘mV ‘Ë¶©Vm à‘mU (EH$ bmI {O{dV OÝ‘m‘mJo) 174 Amho.
c) OÝ‘mÀ¶m doiog Am¶w‘m©Z (df©) 69.4 d qbJ {dH$mg {ZX}em§H$ 0.829 Amho.
d) Ano{jV embo¶ {ejU d,7 12.3 d Hw$eb H$m‘Jma eº$s 17.6% Amho.
n¶m©¶r CÎmao …
1) (a), (b) Am{U (c) 2) (b), (c) Am{U (d) 3) (a) Am{U (b) 4) gd© n¶m©¶ ~amo~a AmhoV

2) According to the United Nations Development Report 2019, which statements about India's Human

Development Index are correct?

a) Total of 30.5% Internet users and Employment ot Population Ratio (15 yrs. and above) is

40.6%.

b) Maternal Mortality Ratio (deaths per 1,00,000 live births) is 174.

c) Life expectancy at birth (years) 69.4 and Gender Development Index it is 0.829.

d) Expected schooling year 12.3 and skilled manpower is 17.6%.

Answer Options :

1) (a), (b) and (c) 2) (b), (c) and (d)

3) (a) and (b) 4) All options are correct

3) Am{W©H$ {dH$mg Am{U ‘mZd {dH$mg ¶m§À¶mV ’$aH$ Amho, ho ‘V H$moUr ‘m§S>co Amho ?
1) nm°c pñQ´>Q>Z 2) A‘Ë¶© goZ 3) àm. ‘oh~y~ Cc-hH$ 4) Xm§S>oH$a d aW

3) Who has expressed this opinion that, there is a difference between economic development and

human development ?

1) Paul Striton 2) Amartya Sen

3) Prof. Mehaboob Ul-Huk 4) Dandekar and Rath
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4) ‘mZd {dH$mg {ZX}em§H$m g§X^m©V nwT>rbn¡H$s H$moUVo/Vr {dYmZ/{dYmZo gË¶ AmhoV?
a) n{hbm ‘mZd {dH$mg {ZX}em§H$ Ahdmb ‘oh~y~-Cb-hH$ ¶m§À¶m ZoV¥ËdmImbr V¶ma Pmbm Am{U Vmo 1990 ‘Ü¶o

àH$m{eV H$aÊ¶mV Ambm.
b) 'OÝ‘mÀ¶m doiMo dOZ' ¶m AmYmao ‘moObo OmUmao Amamo½¶ hm ‘mZd {dH$mg {ZX}em§H$mMm EH$ ‘hÎdmMm KQ>H$ Amho.
n¶m©¶r CÎmao …
1) a Am{U b 2) Ho$di a 3) Ho$di b 4) darbn¡H$s H$moUVohr Zmhr

4) Which of the following statements regarding HDI is/are true ?

a) The first HDI report was prepared under the stewardship of Mahboob-U1-Haq and published in

1990.

b) Health measured in terms of ‘weight at birth’ is one of the important component of HDI.

Answer options :

1) a and b 2) Only a 3) Only b 4) None of the above

5) Imcrcn¡H$s H$moUVo {dYmZ ~amo~a Amho.
a) ‘mZd {dH$mg {ZX}em§H$ Ahdmc OmJ{VH$ nmVirda 1990 nmgyZ àH$m{eV hmoV Amho.
b) gZ 1995 ‘Ü¶o OmJ{VH$ nmVirda n«H$m{eV Pmcocm ‘mZd {dH$mg Ahdmc cmoH$g§»¶oVrc qcJ ôXmg§~§Yr hmoVm.
n¶m©¶r CÎmao :
1) (a) ~amo~a Amho 2) (b) ~amo~a Amho
3) (a) Am{U (b) XmoÝhr ~amo~a AmhoV. 4) darcn¡H$s H$moUVohr ~amo~a Zmhr

5) Which of the following sentences is correct ?

a) The Human Development Index Report is being published globally since 1990.

b) The Human Development Report, published globally in 1995 was on gender differences in the

population.

Answer Options :

1) (a) is correct 2) (b) is correct

3) Both (a) and (b) are correct 4) None of the above is correct

6) ‘mZdr {dH$mg {ZX}em§H$ Imbrb/nwT>rb VrZ {ZX}em§H$ {‘iyZ V¶ma hmoVmo ......
1) Am¶w‘m©Z, kmZ, EHy$U bmoH$g§»¶m 2) Am¶w‘m©Z, kmZ, OrdZ‘mZ
3) d¶, kmZ, XaS>moB© IM© 4) àm¡T> gmjaVm à‘mU, kmZ, OrdZ‘mZ

6) Human Development Index is prepared by the following three index

1) Life expectancy, Knowledge, Total population

2) Life expectancy, Knowledge, Standard of living

3) Age, Knowledge, Per capita cost

4) Adult literacy ratio, Knowledge, Standard of living

7) ‘mZdr {dH$mg {ZX}em§H$ - 2018 À¶m Ahdmbm~m~V Imbrb {dYmZo {dMmamV ¿¶m.
a) Vr Am¶w‘m©Z, {ejU Am{U CËnÞ ¶mMr g‘J« AmH$S>odmar Amho.
b) 2018 À¶m ‘mZdr {dH$mg {ZX}em§H$mV ^maVmMm H«$‘m§H$ 130 dm Amho.
c) ZoXac±S>g, qgJmnya, ñdrS>Z, hm±JH$m±J, AmB©gb±S> ¶m§Mr H«$‘dmarV AmKmS>r Amho.
d) Zm̀ Ooa, X g§oQ́>b Am{’«$H$Z [anpãcH$, gmD$W gwXmZ, MmS> Am{U ~wé§S>r ¶m§Mo ‘mZdr {dH$mg {ZX}em§H$mV gdm©V H$‘r JwU AmhoV.
darbn¡H$s H$moUVr {dYmZo ¶mo½¶ AmhoV ?
1) (a), (b), (c) 2) (a), (b), (d) 3) (b), (c), (d) 4) darb gd©
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7) Consider the following statements about Human Development Index report - 2018 :

a) It is a composite statistic of life expectancy, education and income.

b) India ranks 130 on 2018 HDI.

c) Netherland, Singapore, Sweden, Hongkong, Iceland lead the ranking.

d) Niger, The Central African Republic, South Sudan, Chad and Burundi have the lowest score in

the HDI.

Which of the statements given above are correct?

1) (a), (b), (c) 2) (a), (b), (d) 3) (b), (c), (d) 4) All above

8) Imbrbn¡H$s H$moUVo EMS>rAm¶ ‘mZd {dH$mg Ahdmb 2020 Ûmao gmXa Ho$bm Jobm?
1) qbJ Ag‘mZVm {ZX}em§H$ EMS>rAm¶ 2) J«hm§Mm Xm~ g‘m¶mo{OV EMS>rAm¶
3) ‘mZdr J[a~r EMS>rAm¶ 4) qbJ g§~§{YV {dH$mg EMS>rAm¶

8) Which of the following HDI was introduced by Human Development Report 2020 ?

1) Gender Inequality Index HDI 2) Planetary Pressure Adjusted HDI

3) Human Poverty HDI 4) Gender related Development HDI

9) Imbrbn¡H$s H$moUVo/Vr {dYmZ/Zo ¶mo½¶ Amho/V?
a) ‘mZd {dH$mg {ZX}em§H$ Ahdmb 2010 Zo XmoZ OmJ{VH$ {ZX}em§H$ gwê$ Ho$bo-qbJ g~brH$aU Cnm¶ Am{U qbJ

Ag‘mZVm {ZX}em§H$.
b) qbJ g~brH$aUmÀ¶m Cnm¶mZo órbm Am{W©H$ Am{U amOH$s¶ OrdZmV g{H«$`nUo ̂ mJ KoÊ¶mg gj‘ AmhoV H$s Zmhr

ho gy{MV Ho$bo.
n¶m©¶r CÎmao …
1) Ho$di a ¶mo½¶ Amho 2) XmoÝhr a Am{U b ¶mo½¶ AmhoV
3) Ho$di b ¶mo½¶ Amho 4) darbn¡H$s H$moUVohr ¶mo½¶ Zmhr

9) Which of the following statement/s is/are correct ?

a) Human Development Index Report 2010 launched two global indices-Gender Empowerment

measure and Gender Inequality Index.

b) The Gender Empowerment Measure indicated whether women are able to actively participate

in economic and political life.

Answer options :

1) Only a is correct 2) Both a and b are correct

3) Only b is correct 4) None of the above are correct

4) gd©g‘mdoeH$Vm
1) ''AZwXmZ ¶moOZm, øm pñQ>am°B©S> gma»¶mM AgVmV, Amier S>m°³Q>am§Zm Ë¶m§À¶m AkmZr é½Um§Zm pñQ>am°B©S>Mm S>mog

Úm¶bm AmdS>Vo. pñQ>am°B©S>‘wio H$mhr H$mi ~ao dmQ>Vo. é½Umbm Ëd[aV Amam‘ {‘iVmo, na§Vw hm é½UmMm AmOma H$m¶‘ ~am
H$aÊ¶mMm Cnm¶ Zmhr'' ho {dYmZ Imbrbn¡H$s H$moUr Ho$bobo Amho?
1) am‘ OoR>‘bmZr 2) {H$emoa OoR>Z§XmZr 3) S>m°. ‘Z‘mohZ qgh 4) nr. {MX§~a‘

1) "Subsidies are akin to steroids as prescriptions. Lazy doctors like to administer to their ignorant

patients a dose of steroids to remedy the proximate cause of illness. Steroids provide quick

relief but don’t promise an enduring cure". This statement is quoted by whom ?

1) Ram Jethmalani 2) Kishore Jethnandani

3) Dr. Manmohan Singh 4) P. Chidambaram
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5) àmXo{eH$ Ag‘Vmob
1) Imbrbn¡H$s àmXo{eH$ Ag‘VmobmMo {ZXe©H$ H$moUVo?

a) {Zìdi amÁ¶m§VJ©V CËnmXZ b) amÁ¶mVrb bmoH$m§Mo XaS>moB© CËnÞ
c) XaS>moB© {dOoMm dmna d) à{V 1000 ì¶º$s¨‘mJo Zm|XUrH¥$V dmhZm§Mr g§»¶m
n¶m©¶r CÎmao …
1) n¶m©¶ b Am{U a 2) n¶m©¶ a, b Am{U c 3) n¶m©¶ b Am{U c 4) n¶m©¶ a, b, c Am{U d

1) Which of the following are indicators of Regional Imbalance ?

a) Net State Domestic Product. b) Per Capita Income of the people in State.

c) Per Capita Consumption of Electricity. d) Registered vehicles per 1000 persons.

Answer options :

1) Option b and a 2) Option a, b and c 3) Option b and c 4) Option a, b, c and d

CÎmao - (6) H$ë¶mUH$mar amÁ¶

1) H$ë¶mU, {dH$mg, g~brH$aU
1-4 2-3 3-2

2) emídV {dH$mg - E‘S>rOr, EgS>rOr

1-2 2-1 3-2 4-2

3) ‘Zwî¶~i {dH$mg

1-4 2-2 3-3 4-2 5-3 6-2 7-2 8-2 9-3

4) gd©g‘mdoeH$Vm
1-2

5) àmXo{eH$ Ag‘Vmob
1-4


